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62 #include <regex. h>
63 #include "getresponse. h"

1/*

2 * CDDL HEADER START

3 *

4 * The contents of this file are subject to the terms of the

5 * Common Devel opnent and Distribution License (the "License")

6 * You may not use this file except in conpliance with the License

7 *

8 * You can obtain a copy of the license at usr/src/ OPENSOLARI S. LI CENSE
9 * or http://ww. opensol aris.org/os/licensing

10 * See the License for the specific |anguage governi ng perm ssions

11 * and limtations under the License

12 =

13 * When distributing Covered Code, include this CDDL HEADER in each

14 * file and include the License file at usr/src/ OPENSOLARI S. LI CENSE
15 * |f applicable, add the follow ng below this CODL HEADER, wth the
16 * fields enclosed by brackets "[]" replaced with your own identifying
17 * information: Portions Copyright [yyyy]l [nane of copyright owner]

18 =

19 * CDDL HEADER END

20 */

21 /*

22 * Copyright (c) 1988, 2010, Oracle and/or its affiliates. Al rights reserved
23 * Copyright 2012 Nexenta Systems, Inc. Al rights reserved

28 /*
29 /*

/
33/
/
/

* ok ok ok

37 /*

41 #i
42 #i
43 #i
44 #i
45 #i
46 #i
47 #i
48 #i
49 #i
50 #i
51 #i
52 #i
53 #i
54 #i
55 #i
56 #i
57 #i
58 #i
59 #i
60 #i
61 #i

Copyright (c) 2013 Andrew Storrmont. Al rights reserved

24 *
*/

ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude
ncl ude

Copyright (c) 1984, 1986, 1987, 1988, 1989 AT&T */
Al Rights Reserved */

Parts of this product may be derived from */
Mortice Kern Systenms Inc. and Berkeley 4.3 BSD systens. */
licensed from Mrtice Kern Systens Inc. and */
the University of California. */

38 * Copyright 1985, 1990 by Mrtice Kern Systems Inc. Al rights reserved
*
/

<stdi o. h>
<errno. h>
<pwd. h>
<grp. h>
<sys/types. h>
<sys/stat. h>
<sys/ param h>
<sys/acl . h>
<limts.h>
<uni std. h>
<stdlib. h>
<l ocal e. h>
<string. h>
<strings. h>
<ctype. h>
<wal t. h>

<f nnat ch. h>
<l angi nf 0. h>
<ftw. h>

<l i bgen. h>
<err.h>

65 #define A DAY (1 ong) (60*60*24) /* a day full of seconds */
66 #define A MN (1 ong) (60)
67 #define BLKSIZ 512
68 #define round(x, s) (((x)+(s)-1)&((s)-1))
69 #ifndef FTWSLN
70 #define FTWSLN 7
71 #endi f
72 #define LI NEBUF_SI ZE LI NE_MAX /* input or output lines */
73 #define REMOTE_FS "/etc/dfs/fstypes"
74 #define N_FSTYPES 20
75 #define SHELL_MAXARGS 253 /* see doexec() for description */
77 I*
78 * This is the list of operations
79 * F_USER and F_GROUP are naned to avoid conflict with USER and GROUP defi ned
80 * in sys/acl.h
81 */
83 enum Conmand
84 {
85 PRI NT,
86 ACL, AMN, AND, ATIME, CMN, CPIO, CslZE, CTIM DEPTH, EXEC, F_GROUP
87 F_GROUPACL, F_USER, F_USERACL, FOLLOW FSTYPE, |NAME, |NUM | PATH
88 | REGEX, LINKS, LOCAL, LPAREN, LS, MAXDEPTH, M NDEPTH, MM N, MOUNT,
89 MM ME, NAME, NCPI O, NEWER, NOGRP, NOT, NOUSER, OK, OR, PATH, PERM
90 PRI NTO, PRUNE, REGEX, RPAREN, SIZE, TYPE, VARARGS, XATTR, DELETE
90 PRI NTO, PRUNE, REGEX, RPAREN, SIZE, TYPE, VARARGS, XATTR
91 };
__unchanged_portion_onitted_
105 /*
106 * Except for pathnanmes, these are the only | egal argunents
107 */
108 static struct Args commands[] =
109 {
110 [ NOT, O,
111 (e, LPAREN, Unary,
112 "), RPAREN, Unary,
113 "-a", AND, )
114 “-acl", ACL, Unary,
115 "-amn", AM N, Num
116 "-and", AND, Op,
117 "-atine", ATI ME, Num
118 "-cmn", CM N, Num
119 "-cpio", CPI O Cpi o,
120 "-ctinme", CTI VE, Num
121 "-depth", DEPTH, Unary
122 "-delete", DELETE, Unary
123 "-exec", EXEC, Exec
124 "-foll ow', FOLLOW Unary,
125 "-fstype", FSTYPE, Str
126 "-group", F_GROUP, Num
127 "-groupacl ", F_GROUPACL, Num
128 "-1 name", | NAVE, Str
129 "-inunt, I NUM Num
130 "-ipath", | PATH, Str
131 "-iregex", | REGEX, Str
132 "-1inks", LI NKS, Num
133 "-local ", LOCAL, Unary
134 "-ls", LS, Unary
135 " - maxdept h", MAXDEPTH, Num
136 "-m ndept h", M NDEPTH, Num
137 "-mmin", MV N, Num
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138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162

"-mount ",
"-ntime",
"-nane”,
"-ncpio",
"-newer",
"-nogroup",
"-not",
"-nouser",
"ot
"-ok",
"-or",
"_path",
"_pernt |
"-print",
"-print0",
"-prune”,
"-regex",
"-size",
"-type",
"-user",
"-useracl",
"oxattr",
" - xdev",
NULL,

__unchanged_portion_omtted_

205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222

225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242

stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati

stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati
stati

OO0 O0000000O000000O000

OO0OO00O000000000O00O000O00O0

int

int

int

int

struct Args
int

voi d

struct Arglist
int

char

FI LE

int

char

voi d

char

int

node_t

char

int wal kfl ags
struct Node
struct Node
char

char

char

char

tinme_t

FI LE

char

int

int

struct Arglist
char

char

int

int

int

MOUNT, Unary,
MTI ME, Num
NAME, Str,
NCPI O, Cpi o,
NEVEER, Str,

, Unary,
NOT, ,
NOUSER, Unary,
R O,
XK, Exec,
R, o,
PATH, Str,
PERM Num
PRI NT, Unary,
PRI NTO, Unary,
PRUNE, Unary,
RECEX, Str,
Sl ZE, Num
TYPE, Num
F_USER, Num
F_USERACL, Num
XATTR, Unary,
MOUNT, Unary,
0, 0
conpi l e();
execute();
doexec(char *, char **, int *)

dodel ete(char *, struct stat *:

*| ookup() ;
ok();

usage(voi d)
*varargs();
list();
*get group();
*cndopen() ;
crdcl ose();
*get shel I ();
init_renote_fs();
*get nane();
readnode() ;

get mode() ;
*gettail ();

__NORETURN;

FTW CHDI R| FTW PHYS| FTW ANYERR| FTW NOL COP;
*t opnode;
*freenode;

€ I* next free
*epiof] = { "o

"cpi 0", -o",

node we nay use

%

"-oc", 0
0

*out put ;

*dummyarg = (char *)-1;
| astval ;

varsi ze;

*lastlist;

*cmdnane;

*renot e_f st ypes[ N_FSTYPES+1] ;
fstype_i ndex = O;
action_expression = 0;

K -exec, or
error = 0;

/* -print,

struct FTW*);

later */

-ok */
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243 static int paren_cnt = 0; /* keeps track of parentheses */
244 static int Eflag = 0;

245 static int hflag = 0;

246 static int Iflag = O;

247 | * set when doexec()-invoked utility returns non-zero */

248 static int exec_exitcode = O;

249 static regex_t *preg = NULL;

250 static int npreg = O;

251 static int m ndepth = -1, nmaxdepth = -1;

252 extern char **environ;

254 int

255 main(int argc, char **argv)

256 {

257 char *cp;

258 int c;

259 int paths;

260 char *cwdpat h;

262 (void) setlocal e(LC_ALL, "");

263 #if !defi ned( TEXT_DOVAI /* Shoul d be defined by cc -D */
264 #define TEXT_DOVAIN "SYS_TEST" /* Use this only if it weren't */
265 #endi f

266 (voi d) textdomai n( TEXT_DOVAIN) ;

268 cmdnanme = argv[0];

269 if (time(&ow) == (time_t)(-1)) {

270 (void) fprintf(stderr, gettext("%: time() %\n"),
271 cndnane, strerror(errno));

272 exit(1);

273 }

274 while ((c = getopt(argc, argv, "EHL")) !=-1) {

275 switch (c) {

276 case 'F

277 Eflag = 1;

278 break;

279 case 'H:

280 hflag = 1;

281 Iflag = 0;

282 break;

283 case 'L’:

284 hflag = O;

285 Iflag = 1;

286 break;

287 case ' ?

288 usage();

289 break;

290 }

291 }

293 argc -= optind;

294 argv += optind;

296 if (argc < 1) {

297 (void) fprintf(stderr,

298 gettext("%: insufficient nunber of argunents\n"),
299 usage();

300 }

302 for (paths = 0; (cp = argv[paths]) != 0; ++paths) {

303 if (*cp=="-")

304 br eak;

305 else if ((*cp =="1" || *cp =="(") && *(cp+l) == 0)
306 break;

307 1

cmdnane) ;
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309 if (paths == 0) /* no path-list */ 375 * so don’t do chdir(2)s. Slower, but at |east
310 usage(); 376 * it works.
377 */
312 out put = stdout; 378 wal kfl ags & ~FTW CHDI R;
379 free(cwdpath);
314 /* Iflag is the same as -follow */ 380 } else {
315 if (1flag) 381 (void) fprintf(stderr,
316 wal kfl ags & ~FTW PHYS; 382 gettext ("% : cannot get the current "
383 "working directory\n"), cndnane);
318 /* allocate enough space for the conpiler */ 384 exit(1);
319 topnode = nalloc((argc + 1) * sizeof (struct Node)); 385
320 (void) menset (topnode, 0, (argc + 1) * sizeof (struct Node)); 386 } else
387 free(cwdpath);
322 if (conpile(argv + paths, topnode, &action_expression) == 0) {
323 /* no expression, default to -print */
324 (void) mencpy(topnode, &PRI NT_NODE, sizeof (struct Node)); 390 if (nftw(curpath, execute, 1000, wal kflags)) {
325 } else if (laction_expression) { 391 (void) fpri ntf(st derr,
326 /* 392 gettext("%: cannot open %: %\n"),
327 * if no action expression, insert an LPAREN node above topnode, 393 cmdnane, curpath, strerror(errno));
328 * with a PRINT node as its next node 394 error = 1;
329 */ 395 }
330 struct Node *savenode;
397 1
332 if (freenode == NULL)
333 (void) fpri ntf(st derr, gettext("%: can't append -print" 399 /* execute any remaining variable length lists */
334 “inplicitly; try explicit -print option\n"), 400 while (lastlist)
335 crmdnane) ; 401 if (lastlist->end != lastlist- >next str) {
336 exit(1); 402 *lastlist->nextvar =
337 } 403 (voi d) doexec((char *) 0 lastlist->arglist,
338 savenode = topnode; 404 &exec_exitcode);
339 topnode = freenode++; 405 1
340 (void) mencpy(topnode, &LPAREN NODE, sizeof (struct Node)); 406 lastlist = lastlist->next;
341 t opnode- >next = freenode; 407 }
342 topnode->first.np = savenode; 408 if (output != stdout)
343 (voi d) mencpy(topnode->next, &PRI NT_NODE, sizeof (struct Node)); 409 return (cndcl ose(output));
344 } 410 return ((exec_exitcode != 0) ? exec_exitcode : error);
411 }
346 while (paths--) {
347 char *curpath; 413 | *
348 struct stat sb; 414 * conpile the argunents
415 */
350 curpath = *(argv++);

417 static int

352 /* 418 conpil e(argv, np, actionp)
353 * If -His specified, it neans we wal k the first 419 char **argyv;
354 * | evel (pathnanme on conmand |ine) |logically, follow ng 420 struct Node *np;
355 * syminks, but |ower levels are wal ked physically. 421 int *actionp;
356 * W use our own secret interface to nftw() to change 422 {
357 * the fromstat to Istat after the top level is wal ked. 423 char *b;
358 */ 424 char **av;
359 if (hflag) { 425 struct Node *ol dnp = topnode;
360 if (stat(curpath, &sb) < 0 & & errno == ENCENT) 426 struct Args *argp;
361 wal kfl ags &= ~FTW HOPTI ON; 427 char **com
362 el se 428 int i;
363 wal kfl ags | = FTW HOPTI ON; 429 enum Command wasop = PRI NT;
364 }
431 if (init_yes() <0) {
366 /* 432 (void) fprintf(stderr, gettext(ERR MG IN T_YES),
367 * We need this check as nftw needs a CWD and we have no 433 strerror(errno));
368 * way of returning back fromthat code with a meani ngful 434 exit(1);
369 * error related to this 435 }
370 */
371 if ((cwdpath = getcwd(NULL, PATH MAX)) == NULL) { 437 for (av = argv; *av && (argp = | ookup(*av)); av++) {
372 I f ((errno == EACCES) && (wal kflags & FTWCHDI R)) { 438 np- >next = 0;
373 I* 439 np->acti on = argp->action;

374 * A directory above cwd is inaccessible, 440 np->type = argp->type;
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441
442
443
444
445
446
447
448
449
450
451
452
453
454
455
456
457
458
459
460
461
462
463
464
465
466
467
468
469
470
471
472
473
474
475
476
477
478
479
480
481
482
483
484
485
486
487
488
489

491
492
493
494
495
496
497
498
499
500
501
502
503

505
506

np->second.i = O'
T (argp->type == Op) [ ,
if (wasop == NOT || (wasop && np->action != NOT)) {
(void) fprintf(stderr,
gettext(' %: operand fol | ons operand\n"),

crmdnane) ;
exit(1);
}
if (np->action != NOT && ol dnp == 0)
goto err;
wasop = argp->action;

} else {
wasop = PRI NT;
if (argp->type != Unary) {
if (I(b = *++av))
(void) fprintf(stderr,

gettext("%: inconplete statenent\n"),

crmdnane) ;
exit(1);

}
if (argp->type == Nun) {
if (((argp->action == MAXDEPTH) ||
(argp->action == M NDEPTH)) &&
((int)strtol (b, (char **)NULL,
10) < 0))

errx(1,

gettext("%: value nust be positive"),
(argp- >action == MAXDEPTH)

maxdept h" : "mi ndepth");
if ((argp- >act|on = PERV ||
(*b I="+"))
i (*b == || *bo=="-") {
np->sec0nd| = *b;
b++;
}
}
}
}
switch (argp->action) {
case AND
br eak;
case NOT:
break;
case OR

np->first.np = topnode;
topnode = np;

ol dnp- >next = O;

br eak;

case LPAREN:. {
struct Node *save = topnode;
topnode = np+l;
paren_cnt ++;
I = conpil e(++av t opnode, actionp);
np->first.np = topnode;
topnode = save;
av +=i;

ol dnp = np;
np +=1i + 1;
ol dnp- >next = np;
conti nue;
}
case RPAREN:

if (paren_cnt <= 0) {

new usr/src/cnd/find/find.c

507
508
509
510
511
512
513
514
515
516
517
518
519
520
521
522
523

525
526
527
528
529
530
531
532
533
534
535
536
537
538

540
541
542
543
544
545
546
547
548
549
550
551

553
554
555
556
557
558
559

561
562
563
564
565
566
567
568
569

571
572

case

case

(void) fprintf(stderr,

gettext("%: unnatched ’')’\n"),

cnmdnane) ;
exit(1);

paren_cnt--;

if (oldnp == 0)
goto err;

if (oldnp >type == Op) {
(void) fprintf(stderr,

gettext ("%: cannot i medi

" follow an operand with
cnmdnane) ;
exit(1);

ol dnp- >next = 0;
return (av-argv);

FOLLOW
wal kfl ags & ~FTW PHYS;
br eak;
INT:

wal kflags | = FTW MOUNT;
br eak;

case DEPTH

case

case

case

case

wal kfl ags | = FTW DEPTH;
break;
DELETE:
wal kflags |= (FTW. DEPTH | FTW_PHYS) ;
wal kf | ags &= ~FTW CHDI R
(*actionp) ++;
break;

LOCAL:

np->first.l = OL;

np->first.ll = OLL;

np->second.i = '+’ ;

/*
* Make it conpatible to df -1 for
* future enhancenent. So, anything
* that is not renote, then it is

Sl ZE:
if (b[strlen(b)-1] =="¢")
np->action = CSI ZE;
[ * FALLTHROUGH* /
I NUM
np->first.1l = atoll(b);
br eak;

CM N

CTI ME:

MM N

MTI ME:

AM N:

ATI ME:

LI NKS:
np->first.l = atol (b);
br eak;

F_USER:
F_GROUP:
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573 case F_USERACL:
574 case F_GROUPACL: {

575
576
577
578

580
581
582
583
584
585
586
587
588
589
590
501
592
593
594
595
596
597
598
599
600
601 }

struct passwd *pw,
struct group *gr;

| ong val ue;

char *q;

value = -1;
if (argp->action == F_USER ||
ar gp- >action == F_USERACL) {
if ((pw = getpwnam(b)) != 0)
val ue = (1 ong) pw >pw_ui d;

= getgrnam b)) != 0)
val ue = (long)gr->gr_gid;

} else {
if ((or

}
if (value == -1) {
errno = 0;
value = strtol (b, &q, 10);
if (errno!=01]|] g==Db || *q!="\0")
(v0|d) fprintf(stderr, gettext(
"%: cannot find % nanme\n"),
crmdnane, *av);
exit(1);
}

np->first.l = val ue;
br eak;

603 case EXEC

604 case K

605
606
607
608
609
610
611
612
613
614
615
616
617
618
619
620
621
622
623
624
625
626
627
628
629
630

wal kfl ags & ~FTW CHDI R;
np->first.ap = av;
(*actionp) ++;
for (;3) {
if ((b=%*av) ==0) {
(void) fprintf(stderr,

gettext("%: inconplete statenent\n"),

crmdnane) ;
) exit(1);
1 f (strcnp(b, "") == 0) {
br
} elseif (strcrrp(b "{}") ==0)
*av = durmyarg;
else if (strcrrp(b "+") == 0 &&
av[-1] == dum‘ryarg &&
np->action == EXEC) {
av[-1] = 0;
np- >f|rst vp = varargs(np->first.ap);
np->action = VARARGS;
br eak;

av++;

br eak;

632 case NAME:
633 case | NAMVE:
634 case PATH:
635 case | PATH

636
637

np->first.cp =
break;

638 case RECGEX:
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639 case | REGEX: {

640
641
642

644
645
646
647
648
649
650
651
652
653
654
655
656
657
658
659

661
662

664
665
666
667
668
669
670

int error;
size_t errlen;
char *errnsg;

if ((preg = realloc(preg, (npreg + 1) *
si zeof (regex_t))) == NULL)
err(l "realloc");
if ((error = regconp(&preg[npreg] b,
((np->action == GEX) ICASE : 0) |
((Eflag) ? REG EXTENDED 0))) 1= 0) {
errlen = regerror(error &preg[ npreg], NULL, 0);
if ((errnmsg = r’ralloc(errlen)) == NUL )
err(1, "malloc");
(void) regerror(error, &preg[npreg], errmsg,
errlen);
errx(1l, gettext("RE error: %"), errnsg);

npreg++;
br eak;

}
660 case PERM

if (*b=="-")
++b;
if (readnode(b) !'= NULL) {
(v0|d) fprintf(stderr, gettext(
find: -perm Bad pernission string\n"));
usage();

np->first.|
break;

= (1 ong) get node((nmode_t)O0);

671 case TYPE

672

673

674

675

676

677 #ifdef S_IFIFO

678

679 #endi f

680

681 #ifdef S_|FLNK

682

683 #endi f

684 #ifdef S_|FSOCK
685

686 #endif

687 #ifdef S_| FDOOR
688

689 #endi f

690

691

i = *b;

np- >f|rst I =
i =='d ? S_IFDR:
i =='b ? S IFBLK:
i =='c ? S_IFCHR :
i =='p" ? S_IFIFO:
i =='f" ? S_IFREG :

i =="1" ?2 S IFLNK :
i =='s’ ? S |FSOX :
i =='D ? S_IFDOOR :

0;
br eak;

693 case CPIO

694
695
696
697
698

if (wal kflags & FTW PHYS)
com = cpi o;

el se
com = cpiol;

goto common;

700 case NCPI O

701

703
704

{
FILE *fd;

if (wal kflags & FTW PHYS)
com = ncpi o;
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705 el se 771 cndnane) ;
706 com = ncpiol; 772 exit(1);
707 commmon: 773 }
708 /* set up cpio */
709 if ((fd = fopen(b, "w')) == NULL) { 775 /* just before returning, save next free node fromthe list */
710 (void) fprintf(stderr, 776 freenode = ol dnp->next;
711 gettext("%: cannot create %\n"), 777 ol dnp->next = O0;
712 cndnare, b); 778 return (av-argv);
713 exit(1); 779 err:
714 } 780 if (*av)
781 (void) fprintf(stderr,
716 np->first.l = (long)cndopen("cpio”, com "w', fd); 782 gettext("%: bad option %\n"), cndnane, *av);
717 (void) fclose(fd); 783 el se
718 wal kfl ags | = FTW DEPTH, 784 (void) fprintf(stderr, gettext("%: bad option\n"), cndnane);
719 np->action = CPIQ 785 usage();
720 } 786 / * NOTREACHED* /
721 / * FALLTHROUGH* / 787 }
722 case PRI NT: __unchanged_portion_onitted_
723 case PRI NTO:
724 (*actionp) ++; 801 /*
725 br eak; 802 * This is the function that gets executed at each node
803 */
727 case NEVER
728 struct stat statb; 805 static int
729 if (stat(b, &statb) < 0) { 806 execute(nane, statb, type, state)
730 (void) fprintf(stderr, 807 char *nane;
731 gettext("%: cannot access %\n"), 808 struct stat *statb;
732 cndname, b); 809 int type;
733 exit(1); 810 struct FTW*state;
734 } 811 {
735 np->first.l = statb.st_ntine; 812 struct Node *np = topnode;
736 np->second.i = '+"; 813 int val;
737 br eak; 814 time_t t;
738 } 815 long |;
816 long long I1;
740 case PRUNE: 817 int not = 1;
741 case NOUSER: 818 char *fil enane;
742 case NOGRP: 819 int cnpreg = 0;
743 break;
744 case FSTYPE: 821 if (type == FTWNS) {
745 np->first.cp = b; 822 (void) fprintf(stderr, gettext("%: stat() error %: %\n"),
746 br eak; 823 cndnanme, name, strerror(errno));
747 case LS: 824 error = 1;
748 (*actionp) ++; 825 return (0);
749 br eak; 826 } else if (type == FTWDNR) {
750 case XATTR 827 (void) fprintf(stderr, gettext("%: cannot read dir %: %\n"),
751 break; 828 cmdname, name, strerror(errno));
752 case ACL: 829 error = 1;
753 br eak; 830 } else if (type == FTWSLN && Iflag == 1) {
754 case MAXDEPTH: 831 (void) fprintf(stderr,
755 maxdepth = (int)strtol (b, (char **)NULL, 10); 832 gettext ("¥%: cannot follow synbolic link %: %\n"),
756 break; 833 cmdname, name, strerror(errno));
757 case M NDEPTH: 834 error = 1;
758 m ndepth = (int)strtol (b, (char **)NULL, 10); 835 } else if (type == FTWDL)
759 br eak; 836 (void) fprintf(stderr, gettext("%: cycle detected for %\n"),
760 } 837 cnmdnane, nane);
838 error = 1;
762 ol dnp = np++; 839 return (0);
763 ol dnp- >next = np; 840 }
764 }
842 if ((maxdepth !'= -1 && state->level > naxdepth) ||
766 if ((*av) || (wasop)) 843 (mndepth != -1 && state->level < nindepth))
767 goto err; 844 return (0);
769 if (paren_cnt !'=0) { 846 while (np) {
770 (void) fprintf(stderr, gettext("%: unmatched ' ('\n"), 847 switch (np->action) {
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case NOT:
not = !not;
np = np->next;
conti nue;

case AND:
np = np->next;
conti nue;

case OR

if (np->first.np == np) {
/*
* handl e naked OR (no termon |left hand side)
*/

(void) fprintf(stderr,
gettext("%: invalid -o construction\n"),
cnmdnane) ;

exit(2);

}
/* FALLTHROUGH */
case LPAREN:. {
struct Node *save = topnode;
topnode = np->first.np;
(voi d) execute(name, statb, type, state);
val = lastval;
topnode = save;
if (np->action == OR) {
if (val)
return (0);
val = 1;

break;

}

case LOCAL: {
int nrenfs;

* |f file systemtype matches the renote
* file systemtype, then it is not |ocal.
*

for (nrenfs = 0; nrenfs < fstype_index; nrenfs++) {
if (strcnp(renote_fstypes[nrenfs],
statb->st_fstype) == 0) {
val = 0;
br eak;

}
br eak;

}

case TYPE
I = (long)statb->st_node&S_| FM;
goto num

case PERM
I = (long)statb->st_npde&07777;
if (np->second.i =="-'
val = ((l&wp->first.l) == np->first.l);
el se
val = (I == np->first.l);
br eak;

case | NUM
Il = (long |ong)statb->st_ino;
goto |l num
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case NEVER
| = statb->st_ntine;
goto num

case ATI ME:
t = statb->st_atine;
got o days;

case CTI ME:
t = statb->st_ctine;
goto days;

case MII ME:
t = statb->st_ntine;

days:
| = (nowt)/A DAY;
goto num

case MM N:
t = statb->st_ntine;
goto m ns;

case AM N
t = statb->st_atine;
goto mns;

case CM N
t = statb->st_ctine;
goto m ns;

mns:
I = (nowt)/AMN
goto num

case CSl ZE:
Il = (long I ong)statb->st_size;
goto |l num

case S| ZE:
I'l = (long |ong)round(statbh->st_size, BLKSIZ)/BLKSIZ
goto |l num

case F_USER:
| = (long)statb->st_uid;
goto num

case F_GROUP;
I = (long)statb->st_gid;

got o num
case LI NKS:
I = (long)statb->st_nlink;
goto num
Il num
if (np->second.i =="+")
val = (Il > np->first.11);
else if (np->second.i =="'-’
val = (Il < np->first.I1);
el se
val = (Il == np->first.11);
br eak;
num
if (np->second.i =="+")
val = (I > np->first.l);
else if (np->second.i == "'-"’
val = (I < np->first.l);
el se
val = (I == np->first.Il);
break;
case K
val = ok(nane, np->first.ap);
break;
case EXEC
val = doexec(name, np->first.ap, NULL);
br eak
case DELETE:
val = dodel ete(nane, statb, state);
br eak;
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#i f ndef XP&4
#endi f

case VARARGS:
struct Arglist *ap = np->first.vp;
char *cp;
cp = ap->nextstr - (strlen(nane)+1);
if (cp >= (char *)(ap->nextvar+3)) {
/* there is roomjust copy the name */
val = 1;
(void) strcpy(cp, nane);
*ap- >nextvar ++ = cp;
ap->nextstr = cp;
} else {
/* no nore room exec comand */
*ap- >nextvar ++ = nane
*ap- >nextvar = 0;
val = 1;
(voi d) doexec((char *)0, ap->arglist,
&exec_exi tcode);
ap- >nextstr = ap- >end;
ap- >nextvar = ap->firstvar;

break;

case DEPTH:

case MOUNT:

case FOLLOW
val = 1;
br eak;

case NAME:
case | NAME:
case PATH.
case | PATH: {
char *path;
int fnnflags = 0;

if (np->action == | NAME || np->action == | PATH)
fnnflags = FNM_| GNORECASE;

/*

* basenane(3c) may nodify name, so

* we need to pass another string

*/

if ((path = strdup(nanme)) == NULL) {
(void) fprintf(stderr,

gettext("%: cannot strdup() %: %\n"),

cmdnane, nane, strerror(errno));
exit(2);

~—

*
* XP&A find should not treat a |eading’ ina
* filename specially for pattern n'atchlng

* Jusr/bin/find wll not pattern natch a | eading
* '’ in a filenane, unless '’ is explicitly

* specified.

*

/

fnnflags | = FNM_PERI OD;

val = !fnmatch(np->first.cp,
(np->action == NAME || np->action == | NAME)
? basenane(path) : path, fnnflags);
free(path);
br eak;
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c 16
}
case PRUNE:
if (type == FTWD)
state->quit = FTW PRUNE;
val = 1;
br eak;
case NOUSER:
val = ((getpwiid(statb->st_uid)) == 0);
br eak;
case NOGRP:
val = ((getgrgid(statbh->st_gid)) == 0);
br eak;
case FSTYPE:
val = (strcnp(np->first.cp, statb->st_fstype) == 0);
br eak;
case CPI O
output = (FILE *)np->first.|;
(voi d) fpr| ntf(output, "%\n", nane);
val = 1;
br eak;
case PRI NT:
case PRI NTO:
(void) fpri ntf(st dout "%%", nane,
(np->action == PRINT) 2\ "\N0");
val = 1;
break;
case LS:
(void) list(nane, statb);
val = 1;
break;
case XATTR
filename = (wal kflags & FTWCHDIR) ?
gettail (nane) : nane;
val = (pathconf(filenane, PC XATTR_EXI STS) == 1);
break;
case ACL:
/*
* Need to get the tail of the file name, since we have
* already chdir()ed into the directory (performed in
* nftw()) of the file
*/
filenane = (wal kflags & FTWCHDI R) ?
gettail (nane) : naneg;
val = acl _trivial (filenane)
br eak;
case F_USERACL:
case F_GROUPACL: {
int i;
acl _t *acl;

void *acl _entry;
aclent _t *pil;
ace_t *p2;

filename = (wal kflags & FTWCHDIR) ?
gettail (name) : naneg;

val = 0;

if (acl _get(filename, 0, &acl) != 0)
br eak;

for (i =0, acl_entry = acl->acl _acl p;

i 1= acl->acl_cnt; i++)
if (acl->ac|_type == ACLENT_T) {
pl = (aclent_t *)acl _entry;
1f (pl- >a |d == np->first.l) {
al = 1;

acI free( acl);
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1112 br eak; 1342 return (1);
1113 } 1343 1
1114 } else {
1115 p2 = (ace_t *)acl _entry; 1345 fn = nane + state->base;
1116 1f (p2->a_ V\.ho == np->first.l) { 1346 if (strenp(fn, ".") == 0) {
1117 val = 1, 1347 /* nothing to do */
1118 acl _f ree( acl); 1348 return (1);
1119 br eak; 1349 }
1120 }
1121 } 1351 if (strchr(fn, */’) 1= NULL) {
1122 acl _entry = ((char *)acl _entry + 1352 (void) fprintf(stderr,
1123 acl - >acl _entry_si ze); 1353 gettext("-delete with relative path is unsafe."));
1124 } 1354 return (1);
1125 acl _free(acl); 1355 }
1126 break;
1127 } 1357 if (S_ISDIR(stath->st node)) {
1128 case | REGEX: 1358 /* delete directory */
1129 case REGEX: { 1359 rc = rmdir(nane);
1130 regmatch_t pmatch; 1360 } else {
1361 [* delete file */
1132 val = 0; 1362 rc = unlink(nane);
1133 if (regexec(&pr eg[cnpreg], nanme, 1, &pnatch, NULL) == 0) 1363 }
1134 val = ((pmatch.rmso == 0) &&
1135 (pmatch.rmeo == strlen(nanme))); 1365 if (rc <0)
1136 cnpreg++; 1366 /* operation failed */
1137 br eak; 1367 (void) fprintf(stderr, gettext("delete failed %: %\n"),
1138 } 1368 name, strerror(errno));
1139 case MAXDEPTH: 1369 return (1);
1140 if (state->level == naxdepth && type == FTW.D) 1370 }
1141 state->quit = FTW PRUNE;
1142 /* FALLTHROUGH */ 1372 return (1);
1143 case M NDEPTH: 1373 }
1144 val = 1;
1145 br eak; 1375 /*
1146 1 1376 * Table | ookup routine
1147 /* 1377 */
1148 * evaluate 'val’ and’ not' (excl usive-or) 1378 static struct Args *
1149 * if no inversion (not == 1), return only when val == 0 1379 | ookup(wor d)
1150 * (primary not true). O her wi se, invert the primary 1380 char *word;
1151 * and return when the primary is true. 1381 {
1152 * 'Lastval’ saves the last result (fail or pass) when 1382 struct Args *argp = commands;
1153 * returning back to the calling routine. 1383 int second;
1154 */ 1384 if (wrd ==0 || *word == 0)
1155 if (val”not) { 1385 return (0);
1156 lastval = 0; 1386 second = word[1];
1157 return (0); 1387 whil e (*argp- >name) {
1158 1 1388 if (second == argp->nanme[1l] && strcnp(word, argp->nane) == 0)
1159 lastval = 1; 1389 return (argp);
1160 not = 1; 1390 ar gp++;
1161 np = np->next; 1391 }
1162 } 1392 return (0);
1163 return (0); 1393 }
1164 } ______unchanged_portion_omtted_
__unchanged_portion_omtted_
1331 static int
1332 dodel ete(char *name, struct stat *statb, struct FTW *state)
1333 {
1334 char *fn;
1335 int rc = 0;
1337 /* restrict syminks */
1338 if ((wal kflags & FTWPHYS) == 0)
1339 (void) fpri ntf(st derr
1340 gettext("-delete is not allowed when syminks are "
1341 "followed.\n"));




